



Computershare Trust Company, N.A.
PO Box 43080
Providence RI 02940-3080
email: walmart@computershare.com
www.computershare.com/walmart

007646

VENKATA KRISHNA DATLA 100 BUCKINGHAM DR APT 264 SANTA CLARA CA 95051

Holder Account Number

C1029263325



Your account is certified but subject to tax withholding on dividend payments.

 $001CS0103_rps.EmL.WMT.184444_669/007646/015242$

Account Summary January 01, 2022 - December 30, 2022 for Account C1029263325

Beginning Balance Ending Balance	Shares Held — 8.231	Price Per Share — \$141.79	•	Market Value — s1167.07	
Purchases and Additions Payroll Deductions Voluntary Cash Purchases	Number of Transactions		Shares Added 7.158	Amount Invested \$1000.00	
Dividend Reinvestments Plan Transfers and Other Additions	_ _		_	_ _	
Benefits Provided by Walmart Walmart Contributions	10		1.073	\$150.00	
Sales Number and Deductions Transactio		Shares	Gross Proceeds	Fees and Commissions	Net Proceeds
Share Sales Plan Transfers	_	_ _	=	_	

Comments

Please note - current associates will need their Walmart Identification Number or Holder Account Number printed above to access your account when calling Computershare. If you no longer work for Walmart you will use your Holder Account Number. Or, for the easiest way to manage your account, go to www.computershare.com/walmart.

189UDR

WMT

+

00SHQA

Optional Cash Purchase Please detach this portion and mail to the address shown below.

If you wish to make an optional cash purchase at this time, please make your check payable to Computershare. No third party checks will be accepted. Funds must be presented in \$US dollars. Please write your Holder Account Number and the Company Name on your check.

This form should **ONLY** be used for Walmart Inc. Associate Stock Purchase Plan The enclosed contribution will **ONLY** be applied to the account referenced to the right.

Attached is a check for

s , . .

The plan allows for a minimum of \$50 with a maximum amount of \$125,000 per year.

A purchase confirmation will be mailed once your funds are invested. No interest will be paid on the funds held pending purchase.

Holder Name: VENKATA KRISHNA DATLA

Holder Account Number

C1029263325 IND



Computershare PO Box 43080 Providence RI 02940-3080

00000000WT ESP2 C 1029263325





Computershare Trust Company, N.A., as agent, upon written request, will provide the name of the executing broker dealer associated with the transaction(s), and within a reasonable amount of time will disclose the source and amount of compensation received from third parties in connection with the transaction(s), if any

ALL SALE INSTRUCTIONS ARE FINAL AND CANNOT BE MODIFIED. STOPPED OR CANCELLED AFTER COMPUTERSHARE HAS RECEIVED THE REQUEST.

Special Instructions

If your account is not certified, you must complete a W-9 or W-8BEN tax form or taxes will be withheld from any dividends or sales proceeds per Internal Revenue Service requirements. Faxed W-8BEN forms are not acceptable.

If you would like to write to us, please include your account number, daytime telephone number with area code, and the company name in your correspondence

PLEASE KEEP THIS STATEMENT FOR TAX PURPOSES.

II. Terms and Definitions

Record Date The date that establishes ownership on our records to receive the dividend.

Payment Date The date the dividend is payable

Dividend Rate The dollar amount of the dividend paid per share or the rate of stock dividend or stock split.

Price Per Share The price per share purchased or sold under the plan. Total Shares The number of shares acquired or sold through the plan.

An aggregate sum of all fees charged. **Deduction Amount**

Loan Collateral The number of shares held by Computershare as collateral for a loan granted through the Walmart Loan Program. Although these shares are still owned by

you, they are not available for transfer, sale or issuance until your entire loan balance is paid. Loans are limited to Associates in the U.S. Annual Maintenance Fee If you no longer work for Walmart you may continue your account and buy shares without paying a brokerage fee. However, you will be charged \$35 once a

year as a maintenance fee. The \$35 fee is automatically deducted from your account after you leave the company, be sure to call Computershare.

ear as a maintenance fee. The \$35 fee is automatically deducted from your account in the first quarter of each year by selling a portion of stock equal to \$35.

The dollar amount as of the date referenced of all shares that are held for this security in the account.

III. Privacy Notice

Value

At Computershare, we take privacy seriously. In the course of providing services to you in connection with employee stock purchase plans, dividend reinvestment plans, direct stock purchase plans, direct registration services and/or custody services, we receive nonpublic, personal information about you. We receive this information through transactions we perform for you, from enrollment forms, automatic debit forms, and through other communications with you in writing, electronically, and by telephone. We may also receive information about you by virtue of your transaction with affiliates of Computershare or other parties. This information may include your name, address (residential and mailing), Social Security number, bank account information, stock ownership information, date of birth, government-issued identification number, and other financial information.

With respect both to current and former customers, Computershare does not share nonpublic personal information with any non-affiliated third-party except as necessary to process a transaction, service your account or as required or permitted by law. Our affiliates and outside service providers with whom we share information are legally bound not to disclose the information in any manner, unless required or permitted by law or other governmental process. We strive to restrict access to your personal information to those employees who need to know the information to provide our services to you. Computershare maintains physical, electronic and procedural safeguards to protect your personal information.

Computershare realizes that you entrust us with confidential personal and financial information and we take that trust very seriously.

Assets are not deposits of Computershare and are not insured by the Federal Deposit Insurance Corporation, the Securities Investor Protection Corporation, or any other federal or state agency.

Contact Us: Email walmart@computershare.com; Web www.computershare.com/walmart; Telephone 1 800 438 6278

131UDR_00M6CH



Computershare

Computershare Trust Company, N.A.
PO Box 43080
Providence RI 02940-3080
email: walmart@computershare.com
www.computershare.com/walmart

VENKATA KRISHNA DATLA

Holder Account Number

C1029263325



Your account is certified but subject to tax withholding on dividend payments.

Transaction History From: 01 Jan 2022 To: 30 Dec 2022

Date	Transaction Description	Transaction Amount (\$)	Deduction Amount (\$)	Deduction Type	Net Amount (\$)	Price Per Share (\$)	Total Transaction Shares	Total Shares Held
01 Jan 2022	Balance Forward							0.000
16 Aug 2022	Payroll Deduction	100.00			100.00	139.955	0.715	0.715
16 Aug 2022	Company Contribution	15.00			15.00	139.955	0.107	0.822
30 Aug 2022	Payroll Deduction	100.00			100.00	132.518	0.755	1.577
30 Aug 2022	Company Contribution	15.00			15.00	132.518	0.113	1.690
13 Sep 2022	Payroll Deduction	100.00			100.00	136.329	0.734	2.424
13 Sep 2022	Company Contribution	15.00			15.00	136.329	0.110	2.534
27 Sep 2022	Payroll Deduction	100.00			100.00	130.950	0.764	3.298
27 Sep 2022	Company Contribution	15.00			15.00	130.950	0.115	3.413
11 Oct 2022	Payroll Deduction	100.00			100.00	132.513	0.755	4.168
11 Oct 2022	Company Contribution	15.00			15.00	132.513	0.113	4.281
25 Oct 2022	Payroll Deduction	100.00			100.00	139.673	0.716	4.997
25 Oct 2022	Company Contribution	15.00			15.00	139.673	0.107	5.104
08 Nov 2022	Payroll Deduction	100.00			100.00	143.119	0.699	5.803
08 Nov 2022	Company Contribution	15.00			15.00	143.119	0.105	5.908
22 Nov 2022	Payroll Deduction	100.00			100.00	151.859	0.659	6.567
22 Nov 2022	Company Contribution	15.00			15.00	151.859	0.099	6.666
06 Dec 2022	Payroll Deduction	100.00			100.00	150.115	0.666	7.332
06 Dec 2022	Company Contribution	15.00			15.00	150.115	0.100	7.432
20 Dec 2022	Payroll Deduction	100.00			100.00	143.882	0.695	8.127
20 Dec 2022	Company Contribution	15.00			15.00	143.882	0.104	8.231